PRELIMINARY EXAMINATION 1 2014
MATHEMATICS
PRIMARY 6
PAPER 1
(BOOKLET A)
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Class: Primary 6
Date: 20 May 2014

Total Time for Booklets A and B: 50 min
15 questions

20 marks

INSTRUCTIONS TO CANDIDATES

Do not turn over this page until you are told to do so.
Follow all instructions carefully.

Answer all questions.

Shade your answers in the Optical Answer Sheet (OAS) provided.

The use of calculators is NOT allowed.

Booklet A and B consist of 13 printed pages.






The numberof visitors to a-tourist atiraction-fast year when rounded off
to the nearest thousand is 400 000. Which one of the following is the

possible actial number of visitors?

(1)
2)
3)
(4)

400 499
400 900
401 490

400983

Find the sum of 6 hundreds, 9tenths and 5 thousandths.

(1)
@
3
{4)

690.005
600 590
600.205
600.095

The container below contained water. What was the volume of the

water in the container?

(1
@
(3)
(4}

270 ml
290 mi
300l
350 mi

Go on to the next page






10. Inthe square grid below, A, B and C are three points on the ground.

Point A is North-WestdfC. In what direction Is point C from point B?

N
. A ' T
o
By

(1} North-East

(2} North-West

(3) South-East

(4) South-West
11. Four different rectangles are used to fomm a pattern.  The first 14

rectangles are shown below. Which rectangle is in the 39™ position?

T

1st

()
@
)
@

l

CI00C T - -

148 3ot
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14. The table shows the rate of charges:for taxi fare during non-peak hours
of travel.
First 3 km T T 18250
Additional kilometre or part thereof . $0.50
Mrs Wong boarded a taxi and paid $27.50 in taxi fare at the end of her
journey.- What was the greatest: possible distance -traveled during non-
peak hours? :
(1) 50km
(2 53km
(3) 55km
(4 58km
i5. At an amusement park, the ratio of the number of adults fo the number

of children was 7 : 6. The ratio of the number of boys to the numbei of
gitls was 3 : 1. What was the rafio of the number of boys to the number
of adults? Give your answer in the simplest form.

M 1:7
) 3:7
(3 3:14
4y 9:14

END OF BOOKLET A






OUeé!iuns 16.to 26 cany 1 mark each. Wiite your answers In the spaces | Do notwiite

providéd. For questions which require unls, give your answers in the units | inthis space.
stated. (10 marks)
16.  Write two hundred and six thousand and seventy-nine in figures.
Ans:
17.  Find the value of 70—-(80 — 15} +5+4.
Ans:
18. Find the value of 3.97 x 90.
Express the answer in decimal.
Ans:
Go on to the next page






22.  Kenneth's watch was 8 minufes sfow.
He went fo-a-cinema and- missed the first 4 minutes of the movie upon

arrival. His watch showed 8.32 p.m. when he arrived. What time did the
movie stait?

Ans: _p.Jm.

Do not write
in this space.

23.  There are white and red roses in a vase. 15 roses are white and 25
roses are red. What fraction of the roses is white? - :
Give your answer in simplest form:

Ans:

24.  Find the difference in value between 4% -—g— .
Give your answer as a mixed number in simplest form.

Ans:

{Go on to the next page)






Questions 26 fo 30 carry 2 marks each. Show your working -and write your | Do not write
answers in the-spaces provided. For quesions which require units, give your | infhis space.
answers in the units stated. (10 marks)

26. Find the value of 3 =+ 7 and correct the answer to 2 decimal places.

Ans: '

27. Inthe number line below, Point A represents% , PointC represents%
and AB = BC. What fraction is represented by Point B?

B
L 4

e @ B
i 2O

Ans: i ::

Go on to the next page
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30. I the figure below, ABC and ADC are friangles.
ZADC = 90°, /ABC = 41° and £DCB =22°.. Find /DAB.

Ans; °

Do not wiite
in this space.

Tofal marks for questions 26 to 30

END OF BOOKLET B
END OF PAPER 1
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Questtons 1405 cany 2 marks each: Show your working clearly and write your | Do not write
‘answers 0 the'spaces: prowded.?For quesnons which require units, give your in this space,
answers in the units stated. All diagrams are not drawn to scale. {10 marks)

1. Bala did sit-ups for 3 days. On each day, he would do 2 more sit-ups
than the previous day: He did y number of sit-ups on the first day. What
was the total number of sit-ups he did for the 3 days?

Give your answer in temms of .

2. Nicholas paid $240 for a microwave oven after a discount of -40%. What
was the price of the microwave oven before the discount?

Ans:$

{Go on to the nexi page;}







N The pattem in the box shows partofa tesseliation. De not wiite
Extend the fesseliation by drawing three more unit shapes in the space | in this space.

o

5. The figure below is formed by a semicircle, 2 identical quarter circios
and fines AB, BC, CDand DA. AB=BC=CD=DA= 60 cm.
What is the total area of the shaded paris?

Ans: cm?

(Go on fo the nexi pane)






7. There were 369 roses and filies at a flower shop. After % of the roses | Donotwiite
in this space.
and 7?‘ of the lilies were sold, there was an equal number of roses and

litles left. How many roses were left?

Ans: 3]

{Go on to the next page)






A group.of boys had an average number of 42 marbles. Oneofthe | Do not write
boys 'hdd Wwiongly ¢ounted: his matbles as 35. The correct number of | in this space.
marbleswhemhad should be. 53.. After. re—countmg the . marbles, the

average number of masbles they had increased {0-45. How many boys
were there in the group?

Ans: (3}

(Go on to the next page)






1.

are there in the money box?

The ratio of the number: of 20¢ coins fo the: -number of 50¢ coins to the | Do not write
number of $1 coins in'a money | boxis 3 : 57 4. The difference in value in this space.
between the 20¢ coins and the $1 colns is $88.40. How many 50¢ coins

Ans; 4 D

(Go on {o the nex page)






13.

The: ratzo of the mass .of sugar in packet A fo the mass of sugar in | Do not write
packet Biis’5:6. The.mass.of sugar in; packet A is iricreased ‘by 30% | inthis space.
By’ what percentage =mus;ththe mass of sugar in packet B be decreased
so that the total mass of sugar. m packet A and B remains the same?

Ans. 4]

{Go on to the next page)
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15.  Patiick spent 25% ofhlssawngs on a bag and 40% of the remainder on | bo not writs
a pair of shorfs. He was left with $135. How much savings did Patrick | in this space.
have at first?

Ans: {4 l;- i ,m]

(Go on to the next page;
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17.

There were 1 56 more silver balloons than gold balloons at.a party. After | Do not wiite

in thi X
6 of the sulver balloons and 2 of the gold balloens hurst, there were 106 S Space
baloons left. How: many balloons were ihere altogether at first?

=
|

Ans: REIE B

{Go on to the neni padion
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EXAMPAPER 2014,
'SCHOOL : CATHOLIC HIGH
SUBJECT: PRIMARY 6 MATHEMATICS

TERM : PRELIM 1

Q1L 1 Q21 Q31041 05101071 Q8 | Q3l010|Q1x]| Qr2]|o3][014]Qis
P 3 4 1 3 4 2 2 1 1 2 3 ‘ 3 2 4
16)206079
17)70-(80—-15)=5 + 4
=70-65-5+4
=70-13 + 4
=57+4=61
18)357.3
19)35, 136,37, 38, 39
. Average
20)2.5x100% = 250%
21)2k—34k
7
=2X7-3+7
7
= 14-10
7
=14 - 13/7
= 124/7
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Paper 2

LVy+y+2+y+4=3y+6 '2)60% = $240
: : 100% = $240/60 x 100 = $400
3) . ‘ 1 4)
c
1A
a1 LI
/ Vil
] / .1
_a-"""/ P
K
e : ' 6)60 =5 = 12 sets
5)30 x 60 = 1800cm2 3x 4 = $12
12 % $12 = $144
7R 14
) 369
L J

20u + 21y = 369
41u = 369
12u=369/41L x12
= 108 roses

.8)980 855 =125
10 balls = 1254

1 bali = 125/10

=12.5g

9)53-35=18
45-42=3
183 =6 boys

10)8~5=3
3u=236
8u=36/3x8
= 96 cmz
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